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\

EQUATIONS = B i whate i

the fancy

Moonstones,
heartcoins, 'n’
skull rings.

small chest
be holdin’
a different
treasure.

Your task be fo find
how many of each
treasure there be,
usin’ the equation
on each chest.
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An equation
shows that two
expressions
are equal.

How about
Q9+99Q+99

1+1=1
3+3+3 = 4+5 _
99+99+99=300-3

of these be In.every
equations. equation, there ...an equals expression on
be an expression sign in the the right.

on fthe left... middle...

1+1 =1
3+3+3 = 4+5
99+99+99=300-3

On each treasure For example,
chest, there be the moon shape
an equation with on this chest stands

a symbol. The symbol for the number
stands for o' moonstones
the number inside.
o' treasures
in the chest.

How many
moonstones
be there in
this chest?

69
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To figure out
what humber the
€ stands for..

...we need
fo know what
number plus 3
equals 30.

Since
27+3=30...

the €
stands for

Aye,
there be 27
moonstones in
this chest.

called solving the

__

Findin’ the
value o' a symbol
in an equation be

equation.

Next, try solving
the equation on this
chest. The heart stands
for the number o'
heartcoins within.

How many
heartcoins be
there?
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On the

left side of the
equation, we have

10+40, which
equals 50.

side has fo

20+30=50,
the @ stands
for 20.

ide hea \/\
equal 50, too.

So, there
are 20
heartcoins.

In the third
chest, there be

 skull rings.

The skull
symbol stands
for the number
o' rings in the

chest.

This
time, we have
symbols on both
sides o' the
equation.






